SAP ABAP table REORC RESERVATION PERIOD {Reservation Period (TIVORRSTP)}

TIVCARECUR

MANDT [CLNT (3)]
REORC RESERVATION PERIOD-RECURNO = TIVCARECUR—RECU—RNP_ _~ 0-N |RECURNO [NUMC (10)]

-7 SEQNO [NUMC (2)]

-7 TIVORRSAREA
3 REORC_RESERVATION_PERIOD-RSAREA = TIVORRSAREA-RSAREA . [MANDT [CLNT (3)]
___________________________ | RSAREA [CHAR (10)]
0.N REORC_RESERVATION_PERIOD-RSOBJTYPE = TIVORRSOBJTYPE-RSOBJTYPE
_____________________________ TIVORRSOBJTYPE
REORC RESERVATION PERIOD-RSTYPE = TIVORRSTYPE-RSTYPE ~ 0..N |MANDT [CLNT (3)]
Tl RSOBJTYPE [CHAR (2)]

555555 TIVORRSTYPE

— —

0..N | MANDT [CLNT (3)]
RSTYPE [CHAR (2)]




